
Multiplier des fractions mixtes négatives (J)

Nom: Date: Note:

Calculez chaque produit.

1. (−138) × (−356) =

2.
1
3 × (−526) =

3.
3
5 × (−4 210) =

4. (−158) × 145 =

5. (−556) ×
1
12 =

6. 357 × (−113) =

7. (−2 612) × 347 =

8. (−345) ×
1
6 =

9. (−315) × 225 =

10. 156 × (−437) =
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Multiplier des fractions mixtes négatives (J) Réponses

Nom: Date: Note:

Calculez chaque produit.

1. (−138) × (−356) = (−118 ) × (−236 ) = 253
48 = 51348

2. 1
3 × (−526) = 1

3 × (−326 ) = (−3218) = (−169 ) = (−179)

3. 3
5 × (−4 210) = 3

5 × (−4210) = (−12650 ) = (−6325) = (−21325)

4. (−158) × 145 = (−138 ) ×
9
5 = (−11740 ) = (−23740)

5. (−556) ×
1
12 = (−356 ) ×

1
12 = (−3572)

6. 357 × (−113) = 26
7 × (−43) = (−10421 ) = (−42021)

7. (−2 612) × 347 = (−3012) ×
25
7 = (−75084 ) = (−12514 ) = (−81314)

8. (−345) ×
1
6 = (−195 ) ×

1
6 = (−1930)

9. (−315) × 225 = (−165 ) ×
12
5 = (−19225 ) = (−71725)

10. 156 × (−437) = 11
6 × (−317 ) = (−34142 ) = (−8 542)
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